2 | 1

T-Bar Bracket

Enclosure Base

T-Bar Bracket

Material: Gray Textured UL94-V0 Polycarbonate
Enclosure Base
Gray Textured UL94-V0 Polycarbonate
Enclosure Cover (For -00 SKUs Only)
Clear Textured UL94-VO Polycarbonate
Enclosure Cover (For -C SKUs Only)
18 Ga. White Powder Coated Steel T-Bar
Bracket
Model 1020-00 & C Includes:
- (1) Enclosure
- (1) T-Bar Bracket
- (4) M4 x 20 mm Captive Phillips Lid Screws
- (4) M4 x 20 mm Captive Torx Lid Screws
- (4) #6 x 5/16 in. Pan Head Thread-Forming
Screws for Plastic
- (4) #6 x 5/16 in. Flat Head Thread-Forming
Screws for Plastic
- (4) Cushioning Washers
- Model 1020-12125 Includes:
- (1) Enclosure
- (1) T-Bar Bracket
- (4) M4 x 20 mm Captive Phillips Lid Screws
- (4) M4 x 20 mm Captive Torx Lid Screws
- (4) #6 x 5/16 in. Pan Head Thread-Forming
Screws for Plastic
- (4) #6 x 5/16 in. Flat Head Thread-Forming
Screws for Plastic
- (4) Cushioning Washers

oberonwireless.com
sales@oberonwireless.com
877-867-2312

DRAWN

CAH 3/17/2022 Oberon, Inc. - 1315 S. Allen St. - State College, PA 16801

CHECKED

JKO 3/17/2024

QA

MFG -

o 3/17/2022 Model 1020-XX

APPROVED
©2024 Chatsworth Products, Inc. All rights reserved. Chatsworth Products. Oberon is a trademark of Chatsworth Products and Oberon, a division of Chatsworth Products. CAH 3/17/2022_ rer7e DWG NO REV
All other trademarks belong to their respective companies. While every effort has been made to ensure the accuracy of all information, CPI does not accept liability for any |TOLERANCE: 0 =+/-.030 C Model1020-XX Customer Priat
errors or omissions and reserves the right to change information and descriptions of listed services and products.03/2024 53% z :// 'gég SCALE | | = =

aadR SHEET 1 OF 5
4 | 3 L 2 | 1




I 3 ¥ 2 |
i s
% \ l .
9.02 [229.1]
SECTION B-B
SCALE1/2
3.78 [96.0]
_A /Enclosure Mounting Flanges [=—3.47 [88.0]—
{ d) 278705 |
N =3 A’
® ! ® ]
i ﬁ
I
I | i Z =
o o o ! 2
g ¥ 8 ' R
2 2 8] E S s R B < E
oS | S 1020-00 and C
| O
1
]
i
® | ®
:ﬁ X
(D 5 DRAWN
I 7 CAH 3/17/2022 Oberon, Inc. - 1315 S. Allen St. - State College, PA 16801
- ?EECKED 3/17/2024
A 1.15[29.1] Ty TITLE
f-— G -
3.00 [76.2] 4.06 [103.1] EZH 3/17/2022 Model 1020-XX
9.58 [243.2] SECTION A-A APPROVED
SCALE1/2 CAH 3/17/2022 57 DWG NO REV
TOLERANCE: S0 e C Model1020-XX_Customer_Rrint
000 = +/- 005 SCALE [sHeeT 2 oF 5
| 3 4; 2 | 1




©0d
Olus)

Olvs)
O)vy

Mounting Legend
A - Oberon T-bar

B - Cisco AIR-AP-BRACKET-1 or -2

DRAWN

CAH 3/17/2022 Oberon, Inc. - 1315 S. Allen St. - State College, PA 16801
CHECKED
IKO 3/17/2024 e
QA
MFG -
e 31712022 Model 1020-XX
APPROVED
CAH 3/17/2022 57 DWG NO REV
TOLERANCE: S0 e C Model1020-XX_Customer_Rrint
.000 = +/- .005 SCALE | [sHEET 3 OF 5
4 | 4; 2 |




TZE

12.38 [314.4]

SECTION H-H
SCALE 1/ 2.5

/Enclosure Mounting Flanges

o

L qlte

/_J

le———5.50 [139.7] —=
l——5.04 [127.9] —=

——4.74 [120.3] —=

V|

£ S | T N S
g5 : tH ?
| v
]
| : 1020-12125
|
! )
© \Q# <
I 0
<J 85 [21.6]
G ———5.50 [139.7] — Oberon, Inc. - 1315 S. Allen St. - State College, PA 16801
10.00 [254.0] SECTION G-G TITLE
12.50 [317.5] i
14.37 [364.9] SCALE1/2.5 Model 1020-XX
SIZE BWG NO DATE
C Model1020-XX_Customer1 Pt
SCALE | [sHEET 4 OF 5
4 | 4; 2 | 1




0
O/ o
=01 Lﬂ
o p ®
o)
s | ®©C
5| @B
A G
oc tA G
91 eB
Q
°l  oF
®
Lo » ©
2 l
(a iO

Mounting Legend

A - Oberon T-Bar

B - Cisco AIR-AP Bracket-1 or -2

C - Cisco AIR-AP Bracket-2 with Cisco
4800 Series APs

E - Single Gang Outlet Box Pattern for
Wall Mounted APs

F - Single Gang Outlet Box Pattern for
Meraki MA-MNT-MR Mounting Plates
I - Meraki MR44, MR45, MR46,
MR55,MR56

Oberon, Inc. - 1315 S. Allen St. - State College, PA 16801

TITLE

Model 1020-XX

SIZE BWG NO DATE
C Model1020-XX_Customer1 Pt
SCIA'-E | [SHEET 5 OF 5
1




